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Phase margin 60deg

Phase margin 30deg
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k = 100 % stagger ratio
phideg = 140 % phase margine is 180 - phideg
phi = pi * phideg / 180;

omega = 0.5 * ((-1 * (k + 1)/tan(phi)) + sqrt(((k + 1)/( tan(phi)))~"2 + 4 * k))
Abeta = sqrt((1 + omega~2)*(1 + (omega/k)"~2))
zeta = 0.5/(sqrt(1 + sqrt((1 + omega~2)*(1 + (omega/k)~2))))*(sqrt(k) + sqrt(1/k))

t = linspace(0,10, 1000);
phi = atan(sqrt(l - zeta"2)/zeta);
rtl = exp(-1 * zeta * t)/sqrt(l - zeta"2);
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rt2 = sin(sqrt(1 - zeta”2) .*x t + phi);
rt =1 - rtl .* rt2;

plot(t, rt)
set(gca, ’ytick’, [0:0.1:2])
grid on
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